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Q1L If A x B = C, then which of the following statements is wrong:

(@ CLA M CLE
€ CL(A+B) (d)C L (AxB)
Q2. Iftwo vectors 2i + 3 — k and —41 — 6j — Ak are parallel-to each other then value of
A be:
@~o (b) -2 (c).3 (d) -4
Q3. Whatisthe value of (4 + B).(4 x B) =?
(@ o0 (b) A2~ B?
(c) A> + B2 + 24B (d) None of these

Q4. Letd=1+4]+k,B=7]~kf Cisavector satisfying A x G ='B-and 4. C = 3, then

-

Cis:
(a) §(52+2{A+212) (b) (5827~ 2F)
()31 —j—k (d)Noneof these

Q5. The”vector perpendicular tothe-vectors 4i —j+ 3k and —2i+j— 2k whose
magnitude is 9:
(a) 31 + 6] — 6k (b) 3i — 6] + 6k
(c) —31 + 6] +6k (d) None of these

Q6. Findax(b+¢)+bx@+ad) +¢éx(d+b)=?
(@ 3+b+¢ )3 - (E+Db+0)
(c)(ﬁ-B-E)x(§+B+E) (d) zero

Q7. Find[2f x (3t —4k)]-[(¢ - 2k) x k] =?

-~

@0 b)i+j-k

(o) 21+ — 3k (d) 16
Q8. Findi-(fxk)+(ixk)-j=?

(a) 20+ (b) 1

(©) 0 di+j+k
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Q9. If|d|=13,|b|=5andd-b = 30, then |d x b| =?

(a) 30 (b) 22233
() V193 (d) =133

Q 10. Vector A & B have scalar product 6.00 and their vector product has magnitude +9.00
What is the angle between these two vectors?

(@) tan~1(1.5) (b) tan~1(3)
(c) tan~1(2) (d) tan™" (2)
Answer Key

Q.1d Q.2b Q3a Q4a Q5¢c

Q6d |Q7a |QS8c Q9d |Q.10a

Use code LIVE to get Maximum OFF on Unacademy PLUS / Iconic and learn from India’s Top Faculties


https://www.physicsaholics.com/
https://www.physicsaholics.com/
https://unacademy.com/@physicsbyprateekjain

PLUS [[ele]lohd

India's Best Educators

Interactive Live Classes

Structured Courses & PDFs

Live Tests & Quizzes

24 months

18 months

12 months

6 months

a Add a referral code

¥2,333/mo
¥2,625/mo
¥3,208/mo

%4,667/mo

Use code PHYSICSLIVE to get 10% OFF on
Unacademy PLUS.

PLUS [[sle] N lohd

India's Best Educators
Interactive Live Classes
Structured Courses & PDFs

Live Tests & Quizzes

24 months ¥2,100/mo

+10% OFF

18 months ¥2,363/mo
+10% OFF ¥4

12 months ¥2,888/mo
% OFF 2:

¥4,200/mo
% OFF >, 2

i‘_ Awesome! PHYSICSLIVE code applied




Written Solution

DPP-4 Vectors (Cross product)
By Physicsaholics Team



Solution.1

el

vt bHhe L o A

(O)sey €

Ans.d




Solution.2

(M)
AL \ ) ) ;
mmx ) w«%\.ﬁ ol
<) \MW& ?_\m.v ( |
{ d \N\é Lw\//\ \Q/
LN /nf_\\,yf/ H IF 2 3 i _
W ﬁ\b e %\_ W\\ - () 0
_ XS A+ U=
o] s vo/\\w;wmuo __
N e «ww\k_ﬂvv/\/\ ) S VKN
kx| ._\.%/@ | - e,
e m \# v@ﬂ 119 o
o T T G ¢ U
3_ -~ x| { A v : \ “Mw.
ol .ﬂ, _ o/ M“\ _ M\\\ nﬂquxm.mw\?
ﬂ 1= (a| {l M,MWW%M\ 5|
P4 \\W—J«A\\ § « -

~ .Ans.b




Solution.3

Q|2
/\\ X\»‘(P{A——ﬁa) Cq)

NL Y ‘
(Fa)-(C) = T  Ansa




Solution.4 3%
= 3+ '
'—B? ::."'5"“;(\Q -
| ' A O\
- PRCAS -
et raaR ) +2\“3 4‘?\? AA\\AD
N 2N >
» Frl= 8 N \
G FE ST P R R M

—

1ﬂﬂ+.h1@wmyw¢@$gwﬂ
| ” D BTSN

> 23 CQ‘ 2 M'-'Z = \&\QTT“@"—
' e\

———

FEESIRCEITIAA TEE N




Solution.5

—

L

«\W)U <
.+7¢ H
A.w e
+ ~|

el
n (|
P

> T

/7 | I
AT

Ans.c

@X



. =g oy

&% .

—
Solution.6 __Qa
—

+E’) s ><(E°+O+?x/a
PRC 4+ X?W
| ( 3

- A\
b AP "\k"’)#c Ez\ —
%@\/ (\\
4 A xBe—Ox=(@ xc)\f@’RW"e
ANPDOY D T »
/ﬁ?@@(wc M@x i9)
N +@ /2\- (& xT)

Q)g\ >o + 0

QQ/S
N = ©

X p L X+

» ’0- '6-5 X?

D

Ans.d




Solution.?7

DX‘&I

\\ﬂ

Ans.a



Solution.8

KE :I\‘C__::)txdl\t g 3.

N

") ?@%‘j ;
<oﬂi Y AW

'4 0¥ @
\§ \> ;ﬂ\ﬂ%\/éj B .

T(N%@ 0]

Ans.c




=2 .
|2l =13, (bl=5_ 2.3 =z206"

Solution.9 2.5 = (R Plme
Tac = GS)(T) (0 P A\@
| Nm\\&

o0 = € N\ |\

N (AL Al
kqg\xi% 7] %) MA\\“Q
PN N \J
@\/ W(C\KV e
“ Ve x 2 I(E DY/ I3 9
V2NN 13
% %'E b7 = & JI133
<§§: ;Q,r _ ~J
;> Naxzls sz T332

Ans.d




Solution.10 - | ' =~ & A —D
7 s { A ¥ /N

Ans.a




For Video Solution of this DPP, Click on below link

Video Solution

on Website:- https://physicsaholics.com/home/courseDetails/43

Video Solution

on YouTube:- https://youtu.be/Dfcht3Z-kgQ

Written Solution  https://physicsaholics.com/note/notesDetalis/84
on Website:-


https://physicsaholics.com/home/courseDetails/43
https://physicsaholics.com/note/notesDetalis/84
https://youtu.be/Dfcht3Z-kgQ

#3) suBscRIBE

Q@ ©

@NEET-Physics
@Physicsaholics ~ @Physicsaholics_prateek @ TJEE-Physics physicsaholics.com Unacademy

;@) @ @ 7 7
CLICK



https://www.youtube.com/channel/UCRwRoH5KjBrkkSIhS_UoJlw
https://www.instagram.com/p/B_Yl0gnBfsz/?igshid=krndq8sjbj5p
https://t.me/NEET_PHYSICS
https://t.me/IITJEE_PHYSICS
https://www.physicsaholics.com/
https://unacademy.com/@physicsbyprateekjain




